My baseline data says: 
 (
We found the majority of our staff do not fully understand or even have a good idea of the 21
st
 Century Framework.
Most of our staff 
are
 at the “Applying” stage or below in utilizing technology.
75% of our staff 
do
 not know the school’s expectations for 21
st
 Century Skills.
)



The question I want answered is:



My plan is:




I chose this option as opposed to others based on the following data:




I will know this plan has succeeded because I will measure: 

